MYP Year 4

Graded Homework

2008-09-03

You should do all of your work on a separate piece of paper. Show all of your work, neatly written in an organized manner. This assignment is due in class on September 10.

1. I think of a number, add 17, multiply by 4, subtract 36, divide by 24 and then add 17 again. Mr. Underwood starts with the same number, adds 4 divides by 10, adds 10, divides by 4 and multiplies by 7. Amazingly, they end up with the same number. What number did we start with and what number did we end with?
2. A girl leaves her house at 8 in the morning and walks south at 8km per hour. After an hour and a half she stops for a drink and sits for 15 minutes. She then meets a friend whose parents give her a ride in their car, traveling 20 km in 30 minutes. She then got to a mall and slowly walked through the 1 km long mall, taking three hours to work her way through the stores. Then she catches a subway back north. The subway averages 30 km per hour and she rides for 56 minutes. Being a bit tired, she walks the rest of the way home at only 5 km per hour. 
a. On her way home, how far did she walk?

b. What time was it when she arrived at home, after her day of adventure?

c. What was her average speed for the whole trip in km/hr?

d. What was her average speed for the whole trip in m/sec?

e. Draw a graph of the trip with time on the x-axis and distance on the y-axis

3. Simplify the complex fraction
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4. A student went around and got the IB Diploma test scores for 30 students.  They were: 
22
28
30
32
34
34
36
37
25
29
32
33
33
33
35
39
17
29
39
41
31
29
33
34
37
36
33
28
30
38
a. Make a stem leaf plot of all of the data

b. Find the mean, median and mode of the data.

c. Make a histogram of the data. Choose a width that best displays the data.

d. One of the pieces of data was mistyped. The 17 was really a 37. What is the new mean median and mode? 

e. The median is called a resistant measure of center. Based on your answers to part b and d above, define resistant.

f. Is the mean resistant? Explain.

5. Solve the following for X

a. ax - b = x + c 

b. b(x - d) = c(x + d) 

c. p - x/c = qx + d 

d. 
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